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ARTEs °C
1 B °c
RCPRFF °c
R ATRE °C
Y NZilis °C
, B °c
ECPRFF °c
R ATRE °C
Y NZilis °C
; R °c
ECPR °c
R ATRF °C
AFREF °Cc
. R °c
KRB °c
RFTEF °C
AFREF °Cc
R °c
i KRB °c
RFTEF °C
AFREF °Cc
RER °c
6
KRB °c
RFTEF °c
AFREF °Cc
: R °c
KRB °c
R P °c




AFTHE °c
. TLERF °c
HC IR B °c
BB °Cc
AFTHS °c
o A= °Cc
H2 IR EF °Cc
BB °Cc
AFTHS °Cc
=R °Cc
10
H2 IR EF °Cc
BB °Cc
AFTEF °c
A= °Cc
11
HC PR EF °c
BB °c
AFTEF °c
A= °c
12
H2 IR EF °Cc
BB °Cc
AFTHF °Cc
A= °c
13
H2 IR EF °Cc
EATHF °c
AFTHF °c
A= °c
14
H2 IR EF °Cc
BT °c
AFTHF °c
TRE °Cc
15
F2 R B °Cc
BT °c




AFTHE °c
TLERF °c
16
HC IR B °c
BB °Cc
AFTHS °c
A= °Cc
17
H2 IR EF °Cc
BB °Cc
AFTHS °Cc
=R °Cc
18
H2 IR EF °Cc
BB °Cc
AFTEF °c
A= °Cc
19
HC PR EF °c
BB °c
AFTEF °c
A= °c
20
H2 IR EF °Cc
BB °Cc
AFTHF °Cc
A= °c
21
H2 IR EF °Cc
EATHF °c
AFTHF °c
A= °c
22
H2 IR EF °Cc
BT °c
AFTHF °c
TRE °Cc
23
F2 R B °Cc
BT °c




AFTHE °c
TLERF °c
24
HC IR B °c
BB °Cc
AFTHS °c
A= °Cc
25
H2 IR EF °Cc
BB °Cc
AFTHS °Cc
=R °Cc
26
H2 IR EF °Cc
BB °Cc
AFTEF °c
A= °Cc
27
HC PR EF °c
BB °c
AFTEF °c
A= °c
28
H2 IR EF °Cc
BB °Cc
AFTHF °Cc
A= °c
29
H2 IR EF °Cc
EATHF °c
AFTHF °c
A= °c
30
H2 IR EF °Cc
BT °c
AFTHF °c
TRE °Cc
31
F2 R B °Cc
BT °c




AFTHF °c
TRE °Cc
32
HE IR BT °Cc
B AT °c
AFTHF °c
TRE °Cc
33
HE PR EF °Cc
B AT °Cc
AFTEF °c
TRIE B °Cc
34
HE PR EF °Cc
B ATy °Cc
AFTEF °c
TR °Cc
35
FC PR B °C
B ATy °Cc
AFTEF °c
TR °c
36
FC PR B °C
BB °c
AFTEF °Cc
TRIE B °Cc
37
HC IR B °C
BB °c
AFTEF °Cc
TR °c
38
H PR B °c
BB °c
AFTEF °Cc
TRERF °Cc
39
HC IR B °c
1B AT °C
AFTEF °Cc
TRERF °Cc
40
HC PR B °c
1B AT °c




AFTHF °c
TRE °Cc
41
HE IR BT °Cc
B AT °c
AFTHF °c
TRE °Cc
42
HE PR EF °Cc
B AT °Cc
AFTEF °c
TRIE B °Cc
43
HE PR EF °Cc
B ATy °Cc
AFTEF °c
TR °Cc
44
FC PR B °C
B ATy °Cc
AFTEF °c
TR °c
45
FC PR B °C
BB °c
AFTEF °Cc
TRIE B °Cc
46
HC IR B °C
BB °c
AFTEF °Cc
TR °c
47
H PR B °c
BB °c
AFTEF °Cc
TRERF °Cc
48
HC IR B °c
1B AT °C
AFTEF °Cc
TRERF °Cc
49
HC PR B °c
1B AT °c




AFTHF °c
TRE °Cc
50
HE IR BT °Cc
B AT °c
AFTHF °c
TRE °Cc
51
HE PR EF °Cc
B AT °Cc
AFTEF °c
TRIE B °Cc
52
HE PR EF °Cc
B ATy °Cc
AFTEF °c
TR °Cc
53
FC PR B °C
B ATy °Cc
AFTEF °c
TR °c
54
FC PR B °C
BB °c
AFTEF °Cc
TRIE B °Cc
55
HC IR B °C
BB °c
AFTEF °Cc
TR °c
56
H PR B °c
BB °c
AFTEF °Cc
TRERF °Cc
57
HC IR B °c
1B AT °C
AFTEF °Cc
TRERF °Cc
58
HC PR B °c
1B AT °c




AFTHS °Cc

TLERF °c
59

H2 IR EF °Cc

BB °Cc

AFTEF °c

TLERF °Cc
60

HC PR EF °c

BB °c

AFTEF °c

A= °c
61

H2 IR EF °Cc

BB °Cc

AFTHF °Cc

TRER °Cc
62

H2 IR EF °Cc

EATHF °c




